
Name: Date:
Class:Teacher:

Multiplication/Division 515
Why is Cinderella no good at soccer?  She keeps running 
away from the ball!

NO remainder.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

9,763 2,049 3,899 2,818 4,320

2 4 5 3 3

3,972 7,840 4,068 2,530 5,918

5 5 5 5 4

3,839 2,914 9,607 2,109 8,225

2 5 2 4 5

4,356 4,608 3,107 7,264 1,532

3 4 2 4 5

3 4 4 3 2

7,588 6,144 4,545 2,625 9,534

3 4 2 2 2

1,110 9,280 2,875 2,240 3,200

3 5 5 5 3

7,360 4,125 7,588 6,144 4,545

2 5 2 3 4

9,030 3,224 4,800 4,280 8,645

× × × × ×

× × × × ×

× × × × ×

× × × × ×

© Facilitators Ferriswheel Score:



Answer Key Date:
Class:Teacher:

Multiplication/Division 515
Why is Cinderella no good at soccer?  She keeps running 
away from the ball!

NO remainder.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

9,763 2,049 3,899 2,818 4,320

2 4 5 3 3

3,972 7,840 4,068 2,530 5,918

5 5 5 5 4

3,839 2,914 9,607 2,109 8,225

2 5 2 4 5

4,356 4,608 3,107 7,264 1,532

3 4 2 4 5

3 4 4 3 2

7,588 6,144 4,545 2,625 9,534

3 4 2 2 2

1,110 9,280 2,875 2,240 3,200

3 5 5 5 3

7,360 4,125 7,588 6,144 4,545

2 5 2 3 4

9,030 3,224 4,800 4,280 8,645

× × × × ×

× × × × ×

× × × × ×

× × × × ×

29,289 8,196 15,596 8,454 8,640
3,794 1,536 909 875 3,178

11,916 31,360 8,136 5,060 11,836
222 1,856 575 448 800

11,517 14,570 48,035 10,545 24,675
3,680 825 3,794 1,536 909

8,712 23,040 6,214 21,792 6,128
3,010 806 2,400 1,070 1,729

© Facilitators Ferriswheel Score:


